


There are many ways in which water gefs
polluted. Identify which are NOT the causes
of water pollution.

1. Sewage
2.  Industrial Effluents
3. Deforestation
‘4. Agricultural waste
5.  Smoke from volcanoes

Choose the most appropriate answer from.

- the options given below:
(A) 3 and 5 only
(B) 3,4 and 5 only
© (C) 5omly
- (D) 3 only
E) Questlon not attempted :
arh & el ¥ wahe S 1A B gﬁrq
R e e T S
1. =ifeq =@
2. oirenfe sfrsEmy
3. = @ we
4. P emRe
g Ry Rrepeat A @r TE T D TG BT
(A) ¥aw 3 et s
(B) Waw 3,4 3 5
(C) uw 5
(D) Haw 3
(E) organa usT

What can be the maximum score for
Glasgow Coma Scale for a fully conscious
individual?

qot I Al B T BT Bhet ST
i fopae &1 @ ¥ 7

(A) 5

(B) 10

©) 15

D) 20 .

(E) Question not attempted / sraia ue

34GNM-1] A\

Bagassosis is caused by:

- (A) Silica

(B) Sugarcane

(C) Cotton

(D) Coal |
(E) Question not attempted
'éfwe?r&wr T %H% HICI z’ren ¥?
(A) ﬁlﬁﬂ?ﬂ_ -

B) T

(©

(D) @rem
(E) S IEG IR ER]

~Which of the following is NOT to be dbne }
while preparing a patlent for Heaith :
'Assessment'?

~ (A) Draping
| B) Positioning‘

© Emptying the bladder

(D) Sleeping

(E) - Questlon not attempted

| mmﬁmﬁﬁwﬁm‘ﬂ%‘:?

(A) w=EHH (Drapmg)

(B) eraRufa (Positioning) -

©). aﬁaﬁﬁwm
(D) fm
(E) orafa usa

[PT.O.

34GNM-1] Avv

Which of the following drugs is given to the
patient to relieve from anxiety before
operation?

(A) Albendazole

(B)
©
(D)
A v R & e fefa | =g
ma;%gﬁwﬁ%ﬁwmgv&mw%?

(A) § 3

(B) Chloroflucrocarbon (CFC)
© Carl:ggn dioxide

(E) Question not attempted

(B)
©
D)
(E)

uH+

Match List 1 with List II:
List I List 11

(Physical Quantity) (Unit)

a. Power of a Len
b. Resistance of wi
c. Electric Power
d. Electrical Ener;

Choose the correct
given below:

I.  Volt ampere
II. Kilowatt hour
HOI. Diopter

IV. Volt ampere™!

T [ % e g2t 1 e Hifg
gl (R ) O @ I ()

a. & @ e I e whwax

b. A % whrdw o IL fedrErR-ger

c. Tma sfm I s@E=x

d. fage st V. s uhwr!

er from the options

e Ry g fyesedt § FFE I A AT HIA:
(A) all b-L, c-1V, d-I1
(B) a-IV, b-IIL, c-IL-d-I
(C) aIL b1V, c-IF d-I
D) a-ll, b-1V, c-Iy-d-1I
(E) Question not attempted / At us
is not @ biotic component of
biosphere.
(A) Plants
(B) Animals
(C) Bacteria
(D) Water
(E) Question not 3 ‘
Sreniew- w1 e Tew T B
(A) 99
B)
©

D)
3

[P.T.O.
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Identify the micronutrients from the

following:
1. Proteins
2. Calcium
3. Iron
4, Fats

Choose the most appropriate answer from
the options given below:

(A) 1 and 2 only

(B) 1 and 4 only

(C) 3 and 4 only

(D) 2 and 3 only

(E) Question not attempted :
Frfafeg & @ 989 dve d@l B TeE

1. RN

2. ‘hfverEm

3. dE ad

4, ot
%%qnqﬁtmq‘rﬁ@rw@rwg?ﬂmam
TIT BT

(A) a1 a2

(B) ¥Faw 1 oiw 4

(C) 9w 3 o 4
(D) Faw 2 it 3

(B) orgafta ued

Who has been awarded Padma Shri award
2023 from Rajasthan?

(A) M. L. Lathar

(B) Ram Kishore Vyas

(C) Laxman Singh

(D) Suresh Mishra

(E) Question not attempted
aé2023asrqaqs?rwr{wmmﬁﬁsé
I §3 7

(A) TH. TAE @AM

(B) T fpetk =™

(C) e i

(D) gisr fysm

(B) orgafa wew

34GNM-1]1 A\
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12

13

A tiny finger - like structure which lies at

the upper junction of the two labia minora

above the urethral opening is called:
(A) ‘Hymen ‘

(B) Clitoris

(C) Mons pubis

(D) Ampuila

(E) Question not attempted

TH @Y S S €@ S T & 8% &

T FE AT A 6 S dhrgm av

fra %, o0 @ W E7
(A) aiftress (Hymen)
(B) wgw (Clitoris)
(C) it o

(D) gRer (Ampulla)
(E) sgaia usH

In recently released “Global Innovation
Index-2023”, what is India’s position among
132 countries across the world?

(A) 30t (B) 35t

(C) 40th (D) 52nd

(E) Question not attempted

T ¥ @l feg o Afyas et gadmis-
2023 ¥, fasa &% 132 <ol & & \R@ 7 &0 W
o o g7

(A) 304 (B) 354t
(C) 40 =t (D) 524t
(E) orgai@ s

By the end of 24 weeks the foetus is

characterised by the appearance of :

(A) External genetalia and fine hair on the
body only.

(B) Fine hair on the body and eyelashes

' with separate eyelids.

(C) Fully developed organ systems.

(D) Limbs and digits.

(E) Question not attempted

' 24&%%%%“‘5‘3%“[1}@%@»

Iuftafy a8 oy ¥ 7
(A) Fad qE AR qur iR W AU
(B) ol uT Aq qom gy Uwe! % WY UE
(C) yofaan el s d@x
(D) st g Sfvferar

(By - orai@ ue

[PT.O.

b, @ A Catt w

14 Match List I with List IT ;-

List I (Action) List IT (Hormone)

‘a. Increases blood 1. Melatonin
glucose level
b. Increases blood  II. Glucagon

Ca™ level

¢. Regulates the III. Aldosterone
body’s biological
clock

d. Controls water ~ IV. Parathormone
and 'electrolyte
homeostasis ,

Tl [ % arg gd 1 &1 e $ifvg

T I () T (o)

a AR EF L Aedhm
W %I T §

. . e
! FeT 21

c. SR & s
PoraareTiisaT B
Frifa &t 3

d. @ qur g
(electrolyte),
aedifres @1 e
& ¥

Choose the correct answer from the options
given below:

T g T fereel & & wE SO @1 Ggw BT
(A) a-I, b1V, c-I, d-TII
(B) a-l, b-IV, ¢-III, d-00
(C) a-lV, b-Il, ¢, d-II1
(D) a-lI, b-IV, c-I, d-1I
(E) Question not attempted / ag=fa ues

. ueeifed

IV, e

34GNM-1] A\
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16

Which of the following parameters is used
to identify a malnourished child using WHO
growth chart?

A) Head circumference for age
(B) Chest circumference for age
(C) Weight for age

(D) Waist circumference for age

(E) Question not attempted

WHO 3fg o % suam &t Frer & & feg
mmw@f&amﬁaﬁuﬁmmm
¥

(A) &g argaTt R o aify

(B) &g STguR BRY B Aty

(C) Mg & oIgER A

(D) oMg % SFER FAT &I ufdfy
(B) ompafa s |

Human heart is protected by a double walled
membranous bag, known as:

(A) Pericardium

(B) Endocardium

(C) Atria

(D) Mesocardium

(E) Questioﬁ not attempted

HE 88T U & ﬁﬁﬁtr%whwéwmgrféﬁ
dary, e wEd ¥ ’

(A gEara/afteg (Pericardium)

(B) siagswt (Endocardium)
(C) iz (Atria)

(D) wEErTr (Mesocardium)

(B) emgar@ 9T

[P.T.O.
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18

34GNM-1] A

Minimum distance required by a normal
human eye to see the objects clearly is:

(A) 30 cm
(B) 40 cm
(C) 25cm
(D) 20 -cm

(E) Question m@t attempted

~~~~~~~~

mwﬁa%%qu%%@%%ma%
e gl &
(A) 30 ¥
(B) 40 &
(©) 25 @@

(D) 20 FH
(E) o ana usd

the following is a

(D) IBMS/390

19

20

agq
(BE) omaia usa

Dr. Edward Jenner introduced ‘Vaccination’
after conducting experiments against which
of the following d1seases‘7 :

(A) Typhoid

(B) Chicken pox
(C) Small pox
(D) Measles

(E) Question not attempted ‘

1. Tsae S A P 9.8 few O & Reg WA
HE H AT BT, B AT HOAT?

(A) TEwES \

B) T
©)
D)

Which of the following diseases are Vaccine
Preventable Diseases under Mission
Indradhanush?
1 DPT
2. Hepatitis B
3. Hemophilus
4
5

Herpes
. - Measles
Choose the correct a
given below: )
(A) 1,2and 5
B) 1,2,3 and 4
) 1,2,3and 5
D) 1,3,4and 5

wer from the options

[PTO.

21

22

23

In a muscle fibre the isotropic band contains
which of the following protein?

(A) Actin (B) Myosin

(C) Haemoglobin (D) Keratin

(E) Question not attempted :
@ﬁ&hﬁ@ﬂ%@@aﬁ@ﬁﬁwﬂ@rﬁﬁ

g1 W& g Sier €7

(A) uied
(©) Hrefe

(B) wERE
(D) Fefes

(B) el W

The separates the cerebrum into’

right and left halves.
(A) Medulla oblongata
(B) Diencephalon

(C) Corpus callosum

(D) Longitudinal fissure
E) Questio'ny not attempted
__ yaf¥ass (cerebrum) Y W
g el # gus wear ¥
(A) g st
(B) o wRessusg (Diencephalon)
(C) wia e
(D) aeed faey (Longitudinal fissure) -
(B) oot 9sA

The presence of an infectious agent in an
inanimate article or skin surface, is called:

(A) Pollution

(B) Infection

(C): Contamination

(D) Infestation

(E) Question not attempted
o feite a%g @1 99 g5 WX EHIOT B a‘ﬁ
Saftafy @ w1 e %‘ ?

(A) W

(B) wEwmHur (Infection)

(C) €guur (Contamination)
(D) wgd (Infestation)

(E) | R GIEGECEL]

34GNM-1] A

24

Which of the following vaccines are

. recommended at 9 months of age, under

National Immunization Schedule?

1.  MMR

2. PCV

3. JE (éhdemic areas only)
4. IPV

Choose the most appropriate answer from |

the options given below:

(A) 1,3 only
B) 1,3, 4 only
© 1,2,4 only

D) 1,2,3,4

142)) Questlon not attempted

TERT ST TuT HEFISHT % siaa e § & feg
Wﬁ9waﬁa¢lgﬁ%ﬁ%ﬁm&§smaﬁ ‘
T ¥ : '

1.. MMR (TH.TH.81X.)

i

2. . PCV (@rd’r'ci’r)
3. JE &%) awaawﬁas%a‘rﬁ)
4. TPV (s

ﬂ%ﬁqmﬁmﬁﬁﬁaaﬁwgaawm
T DI

(A) Faw 1-,,"3

(B) %aw 1,3, 4
(C) e 1, 2, 4
®) 1,2 3,4

(BE) orata usd

[P.T.O.



25  Select the basic food groups suggested by
the ICMR.

1. Pulses and legumes

2
3
4.
5

34GNM-1]1 A\

sugars

meat products

26 | APGAR score is taken at 1 minute and 5

minutes after birth to:

(A) Assess the ¢
the baby. -

tive development of

(B) Evaluate the rall health ahd well

being of the be
© MeaSure birﬂ; %\ieight

(D) Determine m@thér’s post partum
recovery

(E) Question not

_(B) a’&i%ﬁwmam@wﬁﬁaﬁ

28

29

Human Eye has the capacity to see objects
placed at different distances from it. This is
done by the action of:

(A) Retina
(B) Pupil

(C) Cornea
(D) Ciliary mus
(E) Question r;éft attempted

T A site § R oREl T T agelt @

les

the basal meta M&‘i"’lc rate of the body?
(A) Follicle Siil%ulating Hormone
(B) Thyroid Stimulating Hormone
©) |
D)

(E) Question @z@t attempted

Preafifiae & & A W T arire @ omerd
TYTIE qX (basal metabolic rate) I AT & ?

(B) oraia gsd

34GNM-1] A

“a. FEthylene oxide

Match' List T with List II:

List I LlSt 11

b. Plasma

sterilization Theatre

II ‘Environmental

¢. - Glutaraldehyde

d. Phenol

gdr [ & @y g 1 &

given below:

At g T et & 9 AT 1 T AT

A) 2L bIV, oL, a1
(B) &I, b1V, c-I, d-I
(C©) alV, b-1I, c-1, d-II
(D) alV, bl c-L, d-TI

(E) Question not attempfed / Sgata we

[P.T.O.



31

- ®

&
(©
D
- (®

Which of the following cancers are includéd
in NPCDCS screening?

1. . Lung Cancer

2 Breast Cancer
3. Cervical Cancer
4 Bone Cancor'.

Oral vCancer

Choose the correct answer from the optlons

given below:
A
®)
©
©)

1,2,3,4and 5
1,2, 3 and 5 only
2,3, 4 and 5 only
2, 3 and 5 only

Question not attempted

P & & R ST % < A NPCDCS

BRI WA fepar T ¥ 7

1.‘%@%%

2. @9 FHEC

3. aly-der e

4. oy &

5. & 6

e few o faweat § @ @ 99X w1 9w SR
1,2,3,4a?r<5 |

¥ 1,2, 3 T 5
a;arrr234aﬁ-<5
%emzseﬁrs

AT 99T

@A)

C34GNM-1] A\

10

32

33

- (©

The Méntal 'Health Care Act 2017 was
implemented on:

(4)
B)
©
D)
E)
Arf wwe Yaw e, 2017 T AT
g o1 ?

(A) e 7, 2016

(B) W 7, 2017

S 7, 2018

(D) e 7,-2019

(B) orpaft wed

July 7, 2016
July 7, ‘201.7_
July 7, 2018
July 7, 2019

Question not attempted

Fluid filled cavity in the tertiary follicle is
called:

(A) -
B)
©
D)
(E)
Wwﬁm%ﬁmﬁwm%?
(A) wiEet (Hydrocoele)

(B) TR (Antrum)

©) v

(D) we

(B) arjﬁﬁ'a PR

Hydrocoele
Antrum
Coelom
Medulla

Questlon not attempted

[PT.O.

34

Aluminium is used for making‘ cooking
utensils. Which-of the following properties’

al conductivity

Ductility

High meltmg point

attempted

ﬁ%%qmﬁtm‘rﬁ@rw@rwg&amw

(A) Faw 1, 38T 4
(B) ¥aw 1, 33T 5
(C) e 1
(D) *aw 1,48l 5
(B) orara s

34GNM-11 A\

11

35

36

(B)

All of the following are major symptoms of
Schizophrenia except:”

&)

Obsessions ,
Hallucination:
(C) Delusions
D)
(E)
frefotaa & &
RersTRr % e

(A) wFTIrEET
B)
©

Cognitive symptoms
Question not attempted
& otfafvaa adt

a9 /gt |

developed through

genetic Engineering?
(A) Bre
(B)
©
D)
E)

B Y YBI BN 9 SIS o

A)
(B)
©
®)
(E)

Brown rice
Black rice
Golden rice
Jasmine rice

Question not

L UCICT
HIAT T
RIGCERGICK]
S =T

RRIEGICE|

[P.T.O.
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38

34GNM-11 A\

Which of the following is the correct option
for NTEP? :

(A) National Tuberculosis Eradication |

Program |
(B) National Tuberculosis Elimination
- Program
(C) National Tuberculosis Escalation
Program
(D) National Tuberculosis Effective
Program

(E) Question not attempted

NTEP % fou frer & & wer fyeeq war ¥7?
(A) A9E S[EREIATTE FUSHIA T
(B) AyE TG TRARFIE T
(C) AFE YGRS TEhae™ T
(D) A SR shRE duw
(B) orafa uss

Match List I with List II:
List I List 11

(Disease) (Mode of Transmission)
a. Malaria I Air ‘
b. Hepatitis A  II. Sexual

¢c. Measles IIl. Water

d. Hepatitis B IV. Mosquito

gt 1 % gra gd [ % frem sifag

T I (Im) T 1 (FRon &1 weam)
a. HAfET L &

b. ¥egew A II. «fme

c. @gU L. ariy

d. ¥egzw B IV, #9Y

Choose the correct answer from the options
given below: o

A R 1o Rl § § 98 U @ uaw At
(A)  a-IV, b-L, ¢, d-11
(B)  a-IV, b-TIL, c-II, d-I
(©) al, b-1V, c-l, d-I
(D) a-IV, b-IIL, ¢-I, d-II
(E) Question not attempted / FIFART T4

12

39  Which of the following drugs are used for

the treatment of Leprosy?
1.  Rifampicin

2. | Dapsome

3. Pyrazinamide

4, Clofazihine

5.  Bedaguilline

Choose the correct answer from the options
given below:

(A) 1,3 and 5 only

B) 1,2 and 3 only

(C) 1,2 and 4 only

(D) 1,2,4and 5 only

(E) Question not attempted

frafafaa & @ few qael & v Fsam &

e & g R ST £7
L e

2. ¥wEm

3. wrORETES

4,  FEABOHN

5. deifteeim

e e T Rt F @ W we @1 T AR
(A) Faw 1,3 T 5

(B) aw 1,2 3 3

(©) %¥aw 1,2 a4

D) Faw@ 1,2, 45

(E) omgaRa usd

[PT.O.

34GNM-11 A\

40 Identify the role of clinical / medical nutrition

therapist from the following:

1.  Recommending high energy diets to
HIV patients.

2. Recommending therapeutic diets for
management of diseases. v

3.  Nutritional management of patients.
4.  Plan diets for spofts persons.

Choose the most appropriate answer from
the options given below:

(A) 1 and 2 only

(B) 3 and 4 only

(C) 2 and 3 only

(D) 1 and 4 only

(E) Question not attempted -

Prafifes & ¥ fafsed omer Rafres @

e TEE

1.  HIV Qfie ¥ foe oo et yems smeR
% fu eTgetET BT |

2. Ui % weuw % Rig swmwd omER @
AT HEAT

3. PR #1 emer weU|

4. Toeniedl & g amert frer w3

1 Ru T el § ¥ g9@ sugE SO B

T B |

(A) *aa 1 3w 2

- (B) %aw 3 3l 4

(C) wam 2 3T 3
(D) % 1 3K 4

(B) oraf@ usa

13

41

42

Match List 1 with List II:

List ¥ List II
a. Urethral Discharge I.  Yellow Kit
b. Vaginal Discharge II. Grey Kit~

¢. Lower Abdominal pain IIl. Red Kit
d. Genital ulcer IV. Green Kit

o 1 & ary g@r I &1 fem S
w1 @
a. e fawae faese [ b fee

b. O e frasH o ¥ fee
c. =1 sedw =g M. @ e
d. S¥9 uE IV. 8 fpe

Choose the correct answer from the options
given below:

Y e o el § 9 o SR &1 99 i
(A) a1V, b-I, -1, d-TI -

(B) a-l, b-1V, c¢-11I, d-1I

(C) a-l, b-1V, c-1, d-III

(D) al, b-l, c-IV, d-III

(E) Question not attempted / Saiea Hes

Smartphones are:
(A) those phones with highest speed

(B) those phones where only calculations
‘ can be performed

(C) small sized phones

(D) which can access internet and send e-
mails and faxes in addition to other
basic phone functions

(E) Question not attempted

WL B e

(A) Twaq WiE I B

(B) =% w59 9X FHad TG/ aiea fhar
ST Gehar )

(C) ©R° 9Ead I BF ~

D) ﬁiﬂ%mtﬁ?%mmﬁ%m%ma
eI glaam & a1y 397 qun Hew 9
ST A B '

(E) ot us T

[P.T.O.



43  Which of the following statements are true

for G20? ’

1. . The Motto.of G20, 2023 is one Earth,
One family.

2 Los Angle:
of G20

3." European Union has become the full
member of G20 on 9™ September 2023

4. G20, 202fﬁ Summit will be held in
South Afn

Choose the corréet answer from the options

given below: ‘
(A) 2 and 4 only
(B) 1 and 2 only .

©
(D) ¥Faw 1, 2 X 4

(E) orgaRa us

34GNM-1] A

14

44 The male accessory gl

X wETw uial # e
‘1. giwa e
2. e R

.(A) Faw 1 e 2

e

1. Paired seminal vesi
2. Prostate gland

3. Ampulla

- 4. Paired bulbourethral glands

Choose the most. appr te answer from

the options given belo

(A) 1 and 2 only

(B) 2 and 4 only
(©) 1,2 and 4 only
(D) 2,3 and 4 only

(E) Question not atte

3. g (Ampﬁlla)
4. Seargliow dtE wg™

I BT

(B) %aw 2 ofix 4
(C) %awm 1, 2 T 4

(D) ¥a@ 2, 3 X 4

(E) argaRd wed

[P.T.O.

45 Sanitation barriers to interrupt contact

between faeces and mouth are:

; 1. Fingers
2 . Flies
3. Food
4 Filth
5 Fluids

.. Choose th¢ correct answer from the options

given below:
(A) 1,2 and 3 only
(B) 1,2,3 and 4 only

" (© 2,3, 4and5 only

(D) 1,2,3 and 5 only

(E) Question not attempted

T A qw % A wuh ¥ Tedw ww A
wewar Aud &

1
2. wieat
3. oo |
P
5. w Uy

- R T R ¥ @ v B wa A

(A) Faw 1,2 3 3

“(B) Faw 1,2, 3 i 4

(C) ¥ 23,485

| .,-(D) Faw 1, 2, 3 &K S
(E)  ogafa wea

34GNM-1] A\

46

47

15

Which of the following mosquitoes is

" responsible for the transmission of Japanese
- Encephalitis?

(A) Adedes

- (B) Anopheles

(C) Mansonoides

(D)  Culex

(E) Question not attempted

O S NN e W G S
A w
(B)

©) e

(D)

(E) - sgana B

In the new Parliament House the interiors of
the Rajya Sabha are designed with a
theme.

(A) Peacock
(B) Swastik
(C) Lotus

(D) Rose

: ‘(E)‘ 'Question not attempted

T HEE W ¥, [T GO SRS o
‘ frwgERg X s )

(A) wr |

(B) wfes

©) @

(D) e

(E) orgafa e

- [PT.O.



48 _Match List I with List II:

Structure) List II (Function)

| L Cémmon passage
of food and air

II. Prevents entry of
food into the
larynx

II1. Sound production

IV. Covering around

lungs
o 1% e el I P i
a. Hugesg) 1. HISH a9 arg &
wrfses =0t
b. mw) om Ao Bl wited o
- T ¥ e 3

1. s 9= &

IV. Bwsl &1 AT

a-1I17 b-1V, c-1, d-II

Question not attempted / AN U

34GNM-1] /\

16

49

50

Arrangé the given components of reflex arc
from the beglnmng to the end.

1.  Effector =~
2 Sensory

3 Motor ne

4 Sensory

3. Integratm

fraaraﬁaaaﬁu

3
:

Choose the correct'answer from the options
given below:

?ﬁﬁﬁqwﬁmﬁﬁ%a@wmwm.

(A)
(B)
© 4,521,
) '
(E)

Red -
Blue
Yellow
Green

Question not attempted

‘[PT.O.

51 Which of the followmg is NOT absorbed
by the stomach?

Monosaqj arides

A

52 Match List I with List II:
List I (Fort) List IT (Built by)
a. Fort of Bayana 1. Maharaja Sawai
“Jai Singh
II. Ajay Raja
Chauhan
Raja Maan Singh

b. Fort of Anib@r

c. Fort of Tarﬁgarh L

d. Fort of IV. King Vijay Pala
Nahargarh

@Iﬁamﬁr%@%ﬂwﬁmﬁﬁm

T ( T 1

‘A, FAFT & L n’z»’r(rﬁrwé v RiE

b. &R @ II. o™ T 9

1. s qHie
V. T foaew o

I e 1o Rreredi & 9 @& ST FH TIT BN
(A) a1V, b-Il-c-IIL, d-I

B) a-ll, b-IV, ¢, d-II

(©) oL, d-I

(D) oL, &1

(E) Question not attempted / SIaRE W

C34GNM-17 A
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53

54

(A)

Arrange the following stages of Nursing
Process in order of occurrence:

Assessment
Planning

T

g
a.
=

®
o
&

0w
5
O
2]

Choose the correct ansxw:f from the options
given below:

ﬁ%mmﬁmﬁﬁaﬁwwww
(A 3,2,54,1 -
B 4,2,3,1,5
) 1,3,425
D) 2,5 1,3, 4 |
(E) Question not attempted / AT I57

Which of the followmg games for 2028
Olympics have been removed by 10C?

(A) Weight Lifting and- Baseball
(B) Boxing and Weight Lifting
(C) Boxing and Squ
(D) Boxing and Cric
(E) Question not attenripted

Iocérﬁwn%rﬁgafr-@rqa—vr%@ﬂ%aﬁzozs
Srefes % frg s R,

CIEGSIGE AT
(B) FRmETT T
©
(D) gweaw o R

(B) Bﬁﬁﬁﬁv RG]

[P.TO.



55 Wmch of the followmg orgamzatlons deals

56

BN

Do W

w1th child health?
UNDP =
UNICEF
CARA
CDC

5. WFP

Choose the correct answer from the optlons 1

given below:

(A) land2 .

B) tand3 - .

(C) 2and 3

D 2and5

(E) Question not attempted - S
Pt & ¥ A O et v & W % ﬁmrq

K] Eﬁﬁf B E?
1. guadd. (UNDP)

4% (UNICEF) -

druamg (CARA)
- @A (CDO)

w5, g% . (WFP)
ﬁ%ﬁmﬁa@ﬁ%aﬁmmmaﬁﬁq
A 1ar2

B 1sat3

©) 283

D) 23RS

tE) srgeRa 5

Whlch of the followmg is an 1nfect10us
dlsease? . :

A) Blood cancer

(B)  Haemophilia

(C) Diabetes

(D) Typhoid .

(E) Question not attempted ‘
Pl & & dovve T B @ 7

. (A) mam(m%m)

(B) @sﬁmﬁﬁm

(C) mydE

- (D) ZEwEs

C34GNM-1] A

(E) (ﬂjﬁﬁ’(f ;taa

57

»g SR IR SR

Place the route of blood flow through thev

- kidney in correct order: -
Renal vein
Glomeruli
Renal artery '
Efferent art'erioie
Afferent arteriole

3

U R W N =
g

Ty (Efferent) T
GTﬁ’lHTﬁ (Afferent) Rt

' Choose the correct answer from the optlons .

- given below:

58

18

ﬁﬁqmﬁmwwmmwmh .

(A)»13452

B) 3,5, 2,4,1

(©) 3,54,2,1
D) 2,4,1,3,5 .

(E) Question not attempted / ar[aiia we

The target Acellzs of HIV virus in body are: o

{A) White Blood Cells

(B) Red Blood Cells

(C) Nerve Cells

(D) Reproductive Cells

‘(E) Question not attempted
Hlvﬁwﬁammmﬁaﬁt%?

(A) 3 s SR

(B) v wfx wifdvennd
(C) it wifymerd
(D) v Hifwnd

C®) e e

[PTO.

%ﬁmwﬁaﬁmm%wﬁaﬁrm'

59

60

- (B) Utilization

Which of the followmg is a recommended
dose of Iron for the treatment of mild
anaemia in Ante-natal Mothers?

(A) 100 tablets
(B) 100 tablets
(C) 200 tablets in:100 days
(D) 200 tablets 1n ‘A2OO detys

| (E) Question not attempted

frafafeaa & & mi'a%& Higeen § e Terreddr
(mild anaemia) % IuaXx &% fag smaw &
it g = &7
(A) 50 Rei % 100 TR (tablets)

(B) 100 &= # 100 et (tablets)

(©) 100 R ¥ 200 T (tablets)

(D) 200 R & 200 TR (tablets)

E)

Which of the following is NOT the
indicators of health?

(A) Health care delivery indicator

(C) Disease conirol

(D) Health pohc‘ indicators
(E)

(A)
(B) SwfiEn
(ORRGELCEL I
(D) @ Ay .
(B) ergara us7

34GNM-11 A
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(C) Green Chart

b
. €.  Yeast
d

Which of the following is NOT a colour |
" coded chart unde MNCI?

(A) Red Chart
(B) Yellow Cha

(D) Pink Chart .,
(E) Question not attempted

'IMNCI % eferf, fmr & & #w @, oaof sifea

i
(A) «w e
(B) W =@
©) =
(D) Ter =
(B) omafa usw

i Lxst I (Actlon)

' . Baking of Bread
I. Preservative

II. Fixing Nitrogen
IV. Setting of curd

a. hazobzum,
. Lactobacillus

. Vinegar

d. T
Choose the correc: a,nswer from the optlons
given below:

A R g Rreedt 4 T IO b TG Hifsre;
(A) all, b-IV, ¢l d-1I
(B) a-IV, b-IIL, cJ; d-I1
(©)  a-IL b-IV, ¢, d-I

- (D) a-I, b-1, c-IV, d-1I
(E) Question not attempted / Bﬁﬁﬁa LS

 [PTO.
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64

34GNM-11 A\

Who has been appointed as Lokayukta of
Rajasthan in October, 20237

(A) Justice G. L. Gupta

(B) Justice Pratap Krishna Lohra
(C) Justice M. B. Sharma

(D) Milap Chand Jain

(E) Question not attempted

foraer orREy, 2023 ¥ TSRIM &1 RS
e femam T ¥ 7

(A) =rEeid S e e
(B) ~maufd ward FwT west

(C©) it wa. @ gt

(D) faem dg I
(B) oraia usd

Disease control describes all of the following
except '

(A) Incidence of dlsease

(B) Effects of infection

(C) High risk strategy

(D) Financial burdén to community
E) Questiqn not attempted

27 Rrefsr fret & @ ¥ atfifa, I
g1 et gar B

(A) QT ®T g S
(B) EHHY & gHTE

(C) wea Sifew aw g
D) g w oiE aw
(B) orafa usd

20

65

66

Which software is used for designing
presentation on any project?

Fr=fafge & 9 @9 @ g el i

%mﬁwﬁ%mﬁmﬁ%mm#

AT ST ¥ P

(A) MS-Word

(B) MS-Excel

(C) MS-PowerPoint

(D) MS-Access

(E) Question not attempted / SRt T

Trace the path of the sperm cell penetratmg
the ovum.

1 Zona pellucida

2 Plasma membrane of secondary oocyte
3..  Cytoplasm of secondary oocyte

4 Corona radiata

5. Perivitelline space

e HITEBT ET ST U & T Bl T8 e o
aiyd HY|

1. urtEslt siereer (Zona pellucida)
2. fsdas gyl s @ fee! (Plasma

" membrane of secondary oocyte)
3. T gwegdl &1 siitess
4. &g ®de (Corona radiata)
5. uftdaes T (Perivitelline space)

Choose the correct answer from the options
given below:

ﬁ%ﬁqwﬁmﬁﬁaﬁwmmﬁm
(A) 3,2,4,1,5

B) 4,1,52,3

©) 1,4,5,3,2
D) 5,2, 4, 3,1

(E) Question not attempted / STANG U

[P.T.O.

67

68

The sequencé of methods to be followed
during the health assessment of the lungs is:

(A) Palpation, Auscultation, Percussion,
Inspection

(B) Inspection, Auscultation, Palpation,
Percussion

© Percussion, Auscultation, Inspection,
Palpation :

(D) Palpation, Auscultation, Inspection,
Percussion

(E) Question not attempted

HES B WA B AHAT HLd goy faf=r &

TS &1 HH a1 B P

(A) w9f, uftgEor, omem, Frieer

(B) Prlgor, wftsrem, wsl, smam

(C) omama, ufesaur, Friveor, st

(D) wmst, aftsrEor, Frdeor, emam

(B) m‘;ﬁﬁa EL|

Why is breast feeding recommended by the
doctors during the initial period after birth
of new-born babies?

(A) Colostrum provides active 1mmun1ty

(B) Colostrum contains antigens

(C) Colostrum contains antibodies

(D) Milk produced during the initial periodA
is rich in proteins and carbohydrates

(E) Question not attempted

T 1y ¥ S % 9" URhwe sty o
Tafereaanl &I ww M @ srgeier o @ TE ¥ P
(A) By giha QuEHar ¥a BT 8
(B) @ga ¥ RIS (antigens) 91Q s ¥
(C) @i ¥ wReed (antibodies) Trq =
(4
(D) unthsa @@ § ST &9 I 79 § IR
AT FHEEESE TG 960 F WY o ¥
(BE) omai@ us

34GNM-11 A\
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70

Who built “Tribhuvan Narayan temple” of
Chittorgarh?

(A) Prithvi Raj Chauhan
(B) Maharana Pratap

(C) Parmar Raja Bhoja

(D) Maharana Kumbha
(E) Question not attempted
ferciree @1 ‘frgar sroa W e ST ?
(A) oA e
(B) werm wam
(C) 9 [T A9
(D) wermom e

(B) orare@ s

Who is appointed as Central Chief
Information Commissioner of India in 20237

(A) Bimal Julka

(B) Ram Niwas Mirdha
(C©) M. L. Lathar

(D) Shri Heeralal Samariya
(E) Question not attempted

Teeent 2023 ® ARG &1 HA eI YAl g
frgem fpom T ¥ 7

(A) T e

B) v Frema frat
(C) TH., TH. #U¢
(D) i Emm |

(E)l SRR us

[PT.O.



71 | Identify which of the fi
- take place:

wing reactions will

1. CuSO4 + Fe |
2. AgNOs + Cu
i3. 'PbCl, + Cu
4. CuSO4 + Zn
5. NaCl+ Cu

Choose the most appropriate answer from

the options given bel
(A)
B)
©
D)
(E)
Tfofea & @ = @ afifear dwg &7
1. CuSQO4 + Fe

1, 2 and 3 only
1 and 2 only

1,2 and 4 only ..,
2 and 4 only

Question not attempted

2. AgNO; + Cu
3. PbCl, + Cu
4. CuSO4 + Zn

5. NaCl + Cu
R Ry Ty Rreedt ¥ #Eed sugE T @
ERRACAIN

(A) Faw 1, 2 @it
(B) e 1 8 2
(©) ¥ 1,2 ¥R
(D) ¥aw 2 oK 4

(E) oryafa wed

34GNM-1]7 A
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72

Which of the following-is / are NOT a part
of determinants of health?

1.  Aging populatio
2. Quality of life
3.  Biological deterrgfi’glants
4, Socio-economic Qndition

5. Health services

Choose the most appropriate answer from
the options given below:

(A) 2 only
B)

©

[P.T.O.

73 . Which of the following will be determined
by palpatory method (without using
stethoscope), aneroid
sphygmomanometer?

(A) Systolic BP

(B) Diastolic BP ,

(C) Systolic & Diastolic BP both

(D) Capillary Pressure

(E) Question not attempted

teuedl fafy gro (Redres w1 sud Ry )

Frefer Repreieiiies @1 Swdm acy, Py & @
- Traifa e ? )

(A) 9%HTT T 9 (Systolic BP)

(B) ofyes e & (Diastolic BP)
(C) e e argfiRie, S <o T (Both)

(D) fyrer 319 -

(B) e 5

using  an

74  Which one of the following age group is
considered as ‘Adolescent Age Group’ by
WHO?

(A)
B)
©
D)
(E) Question not attempted

frafafaa & @ few emg =@ &1 WHO (frem
W eT) U fheiaeen ey @l T
ST ?

(A) 10 - 18 =

(B) 13 -19 =9

(©) 10 - 19 7§

(D) 12 - 18 a9

B) e g

10 - 18 years |
13 - 19 years
10 - 19 yéars
12 - 18 years

34GNM-1] A

7S  Which of the following are accessory
digestive organs?

1. Pancreas

2. Small intestine
3. Gall bladder
4.  Stomach

5. Tongué

= o @ B § wEEe urEe i ¥?
1. ST

2. B e

3. P

4. HIE

5. fmr

Choose the correct answer from the options
given below:

T w T fyepedt F & W€ ST @ T iR
A) 1,3,4

®) 3,5

© 1,5

®) 1,3.5

(E) Question not attempted / SR usT

76 The endocrine function of pancreas is
performed by:

(A)
(B)
©
D)
(E) Question not attempted

AT BT USHBIET g % &1 feam
Sisi I

(A) THEH HITEH

B) g=F wifveT

(©)  oméds sifw AT

(D) omEeEE % SR

(B) orgar@ usd

23 o [P.T.O.

Acinar cells

Follicle cells

Islands of Langerhans
Islets of Langerhans




77

78

- 5.

(A) 1 and 2 only

(B) 1,2 and 3 oéhly

(C) 1,2,3 and 4 only

D) 1,2,3,4and5

(E) Question n@tiattempted

Rt % @ @ & QM NVBDCP 3 w ¥ 7
1.

2.

4.
%ﬁqwﬁm*ﬁ%wwmwﬁq
(A) Faw 1 8K

(B) av'él'&r 1,2

The method which is generally more
effective in changing human behaviour is:
(A) Counselling

(B) Focus group discussion

(C) Mass medi
(D) Lecture \
(E) Question attempted

TR 9 STEErE-ahl Tatid T ame st
ERIERICIRCIEEERS % ?

(A)
)
©
{D) -
(E) .

NVBDCP?

1 Malaria
2. Kala-Azar

3.  Japanese Encéephalitis
4

5

Plague

. Tuberculosis

Choose the corr
given below:

answer from the options

34GNM-11 A\ 24

79

Match List I with List II:

List I
a. Food.

T I T 11
a. WM e § g SIags ad
S 9T & IugeR A
¥ frem & ik
HER quT I e 3T vae |
c. Oy L %13 O 3/ 91 ad uard
S Fres, TR o
e Ter % 918 97T &l
| B AL T & BT &1
d. e o

Choose the corr
given below:

A kg g

(A)

B

©
D)
(E)

Balanced
diet

Nutrition

Jdst T

Constituents in food
that must be supplied
to body in suitable
amounts. :
Science of foods,
nutrients and other
substances they
contain.

Any thing solid or
liquid which when"
swallowed, digested
and assimilated
provides body with
essential substances
to the body.

~IV. Variety of foods in
adequate amount and
- correct proportlon

IV. gaie 9T qur 98 SIur
me o Tl ST gered)

t answer from the options

a-I11, b-IViic-1I, d-1
a-1V, b-1, ¢-1I, d-1II
Question not attempted / ARG U$7

[P.T.O.

80 Food materials containing fat / oil become

rancid because of:

(A) The oxidation of fat / oil of food
materials

(B) The reductiofr-of fat / oil of food
materials

(C) Decompositioa: of fat / oil of food

)

(E)

materials

Displacement “of fat / oil of food
w/%a@ww&ﬁww@rﬁ?ﬂmﬁ
B g

materials
(A) @mmﬁﬁmg{%%mﬁw

éﬁﬁsﬁmﬁ%ﬁw

(E) ST 99
81 Preventive Psychiatryideals with

1.  Prevention of it ental illness
2. Prevention of physical illness
3.  Promotion of mental health
4.  Promotion of physical health
5. Prevention o cial illness
Choose the correct answer from the options
given below:
(A) 1 only
(B) 3 only

" (C) 1 and 2 only
(D) 1 and 3 only

- (E) Question not attempted
Frirees wafeET R
1. wAmfes T
2. SR A ot e
3. AFRH® @R ] W
4 s wmemd ety
o Ry 1o Rewd ¥ & 98 SR w1 w9
i B
(A) Haw 1
(B) %a@ 3

(C) waw 1 8l 2

(D) weEw 1 T 3
(E) orgaf@ usd

34GNM-1]1 A\
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82

83

Match List T with List II:
List 1 Llst 1
a. Tertiary . Early stage disease
b. Primordial

c. Secondary

d. Primary
" environmental

condition leading

=, tO causation

war 1 % | gar Ilgm e i

a.

b. snfEwrEN

c.

d. wrafs

A)
(B)
©

a-IL, b- IV c;ﬁ; -1
a-L, b-IIL oI, d-IV
(D) &IV, b-I1, c-IIL, d-1

(E) Question not,attempted / raiia W

Which of the followj}ng is. NOT an Artificial
Intelligence (Al) personal digital assistant?
(A) Siri
(B) Google Chré
(C) Cortana '
(D) Alexa it
(E) Question not attempted

Frefifen & & war- @%«tr s (AD =fr

[P.T.O.



84  Match List I with List II:

85

(B

(A) 2 only

List I List I1

a. Bicep Reflex I.  Tongue blade

b. Gag Reflex II. Babinski sign

c. Planter Reflex III. Taylor Hammer

d. Pupil Reflex IV. Light

T [ & wrw gar 11 &1 fram st

TR 1 - il | S

a. fafivces wfed 1 fver wew
(Bicep Reflex) -

b. 7 gt . S fas

c. Tuw ¥ wiad L @ ¥
(Planter Reflex)

d. gaelr ufrer IV. weer

(Pupil Reflex)

Choose the correct answer from the options
given below:

e fiw g Ryeeed! ® 9 @1 SO H1 99 BT
(A) a1V, b-Il, c-I, d-1II

B) a-I, b-1V, c-11I, d-II

(C) a-l, b-II, c-IV, d-I

(D) a-I, b-l, c-1I, d-IV

Question not attempted / SR 99

Which of the following is/are NOT a cause
of neonatal mortality?

1.  Low birth weight

2. Congenital anomalies

3. Diarrhoeal diseases

4.  Malnutrition

Choose the correct answer from the optlons
given below: :

- (B) 1 and 2 only
(C) 3and 4 only (D) 4 only

(E) Question not attempted

= ¥ QN O Hawa geddan B ey 98 3/E 7

1. ™ w9 9

2. Wﬁﬁrwf%!m

3. & O

4.  FHIW9
ﬁﬁﬁqwﬁmﬁﬁwﬁwww
TY BT

(A) Faa 2 (B) ¥aw 1 aft 2
(C) waw3s4 (D) &« 4

(B) organa g

34GNM-1]1 A
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87

Identify the incor’rect pair from the
following :

(A) Gandhi of Rajasthan - Gokulbhai Bhatt

(B) Loknayak of Rajasthan - Jai Narayan
Vyas

(C) Iron Man of Rajasthan - Damodar Lal
“Vyas

(D) Meru Kokila of Rajasthan - Banno
Begum

(E) Question not attempted

e o @ e g™ @ wEEg

(A) TSTEIE W M — MPA WE W

(B) TSTYM %1 WHIEd ~ T A9 A9
(C) TSI T e goy — FHIET | AT
(D) <SR H WG BIpAT — av‘vﬁ”e‘m*

(B) orgaf@ uew

Which of the following can be used for the
diagnosis of diabetes?

1.  Fasting Blood Sugar < 110 mg/dl
2. Fasting Blood Sugar > 126 mg/dl
3. Random Blood Sugar > 200 mg/dl
4. HbAIC < 5.7

Choose the correct answer from the options
given below:

(A) 3 and 4 only

(B) 1 and 4 only

(C) 2 and 3 only

(D) 2 and 4 only

(E) Question not attempted

Frefafed & o fpaes swam AgAE % fem &
fou fopom o weaT ®?

1. @ 92 e e < 110 mg/dl

2. WU @ T > 126 mg/dl

3. e (Random) TR 6T > 200 mg/dl
4. HbAIC < 5.7

- e &g T faemedl § & wE ST @ T it

(A) aw 3 v 4

(B) %aw 1 3T 4

(C) e 2 & 3
(D) %Haw 2 3R 4
(B) orana usd

[PT.O.
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89

34GNM-1] /\

(A)

Which of the following vaccutainers should
be used for post-operative glucose
assesment? ;

(A) EDTA vaccutainers / Purple

B) Sodlum Fluoride / Grey

(C) Plain \iaecutamers / Red

(D) Sodium Citrate / Blue

(E) Questign not attempted
Frefiea & A o1 T ued oo fafeen

e following health care
been upgraded to health and

1.  Sub-health Centres

2. Primary Health Centres
3. Sub district Hospltals
4.  Distri
Choose the
the options
1 and
(B) 1 and
(C) 2 and,
D) 3 and 4 only

(E) Question not attempted

frafafea §1& fem W EHE weerst @

10st appropriate answer from
iven below:

(A)
(B)
©
D)
(E)

27

90

91

Match List I with List II:

List I List 11

a. NISHCHAY 1. Non-Steroidal OCP

b. CHHAYA" II. Steroidal OCP

c. Antara L. UPT kit

d. Mala IV. Injectable

; contraceptive

@ 1% gy 11 &1 e ity

T 1 SI iR

a. frymw [ o-ERES s.d.
II. EREE™ oErd.
L. 743y fee

IV. sia:ggeiy meffrdees

ct answer from the options

ey R g fenel B & wEl wEX T T ity
(A) a-II, b-1, c-IV, d-II

B) a1, b-IH;-c-1V, d-IT

© '

(D)

®

Daughter cells i formed by the cleavage of .
zygote by mitotic division are known as:

(A)
(B)
(©)
D)
(E)

Mesoderm cells
Blastom efes

s BT @ F NI

(A) H‘éﬂﬁﬂm Hifyed (Mesoderm cells)
B)
©)
(D) drweies Bt (Trophoblast cells)
E) '

[P.T.O.



Match List I with List II:

List I List IT
a. Mortality rate 1. Population -
indicators bed ratio
b. Morbidity II. Crude death
indicators - rate
c. Nutritional II. Duration of sfay
status indicators in hospital
d. Health care IV. Height and
delivery weight of
indicafors preschool children
q&rl%wu@llmﬁaﬁm:
T T 10
a g WEgEEs 1 UgeE (SFEen)
a1 &% (bed) @&
ST
b. T dgEe II. &eifE (Crude)
, —
¢. v wR wgEE 1L o & e
. Fary
d. wmem s@HE IV, sm@gd (preschool)
oo @gas et & S qur
HIT

Choose the correct answer from the optioné
given below: \

g T frepedt 9 9 ST @1 9Oe S
(A) a-1, b-1V, c-II, d-1II
(B) a-l, b, c-IV, d-I
(C) a-, b-1I, c-I, d-IV
@®) a1V, b, c-I1I, d-II
(E). Question not attempted / erafa ‘ST-‘?*{»

34GNM-1] A\ 28

93  Which of the following sputum samples

should be collected for the diagnosis of
pulmonary tuberculosis?

1.  SPOT sample 1

2 SPOT samples 2

3 Early morning sample 1
4.  Early morning samples 2
5 No sample required now

Choose the correct answer from the options
given below: ’

(A) 2 and 5 only

(B) 2 and 4 only

(©) 1 and 2 only

(D) 1 and 3 only

(E) Question not attempted

FgHl a4 (pulmonary Tb) ¥ Frem ¥ frg

g% % YUd Y THT B AR ?
1. Ty (gia) dua o
2. fgdwa

3. W e 94U U
4. v wee dud &

5. m%@ﬁiﬁaaﬁ’rm&uﬁﬂﬁ%l

A R g Rraedt ¥ ¥ W T 1 T BT
(A) Fam 28X S
(B) %aw 2 siiT 4
(C©) Haw 1 sfiT 2
(D) %Haw 1 8T 3

(E) orgafa s

[PT.O.
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95

34GNM-11 A\

(B) Boiled and cooled water

Where clean water is not available for
preparation of ORS, the contents of the
packet are dissolved in :

(A) Boiled water

(C) Normal drinking water
(D) Distilled water
(E) Question not attempted

@ od Sude 9 €N uy, ORS s ¥ fog
¥pe ¥ & 7 grall & gy e @ E7

(A) TS AT I

(B) s #T, B fpar gom anly
(C) =™ AT St

(D) g s«

(E) orgaia ue

A family in which either one or both the
parents are NOT available to the children is
known as: /

(A) Broken family

(B) Joint family

©) Problem fafnily

(D) Extended family

(E) Question not attempted

e aRar fved w a1 9l & sifras S
BT IUEEH T W, IH Fed
(A) uHml afEr ”

(B) wga wRamnt

(C) wHEwE UiEr

(D) R aREr

(B) owat@ us
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Glycosuria and ketonuria in urine are
indicative of:

(A) Diabetes mellitus

(B) Diabetes insipidusi

(C) Renal failure

(D) Renal calculi

(E) Question not attempted

5 SEbCHE qUT BRI A B T ST fhgent
T AT B 7 ,
(&) wyTE

(B) TEHE

(C©) bt fereerar (T4 HF 7 HT)
(D) gobr g (¢ 7 verd))
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" Before performing an abdominal surgery,

which instrument is used to prevent
irregularities in micturition?

(A) Ryle’s tube

(B) Foley’s Catheter

(C) T-tube

(D) Drainage tube

(E) Question not attempted

SET @1 g Tafeer w3 ¥ q@ 9T A
srfrafaret @ e B o B BT B
Sy fear s ¥7

(A) TS I sl
(B) W & HATT
(C) T-wferest

(D) freprer wiferest
(B) e usw
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98 What is clinical nutrition?
- (A) Providing nutritional food to
underprivileged.
(B) The specialised area of nutrition which

©

(D)

, diabetic péﬁénts.
(E) Question not attempted
(A)
(B)
dyer ¥ gEkE ¥
(D) diwer & iy & S Hew W qen
qyie % TRR F dor @ weEiE ¥

(E)

99 Fallopian tubes are also known as -
(A) Ampulla
(B) Vas deferens
(C) Oviducts ns -

attempted
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100 Which of the following schemes is/are NOT
related to infants?

1. RBSK

2. JSSK

3. NSSK
- 4. RKSK

Choose the most appropriate answer from
the options given below:

(A) 1 only
B) 2,3 only

(C) 3, 4 only

(D) 4 only

(E) Question né“)t?attempted

Prefrf % & @ Ao Rrggol *
fw Wi 3R

1. RBSK (sediwa i)

2. JSSK (ﬁ.Q‘& T9.%.)

3. NSSK (ue.uwe.uw )
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